HiO w| NI
I+ Hi o i
2 < oo e
i) S H
ok o N <l
—_ N ol
|_AI-I —
N i o
Hil = w oo
A 4K
A U 77 4 & o
al <] 0% o+ o Hil
ol <+ Sy Dol
ol ju T 50 W=y
Rl o o 1
oK ® Ty MO go <) wO
Nigg ol 57 B g s
W@ oxo B oK Em A &olko
0 K Tm0 T ko odm ke, .
<
W
oF
iy
=3
H
<0 no
b H
K il
il 3 B
<
" wm < < <
== A wll wll wll
m K < N <
OB 4 A 4
m m m
<l w I _T BT o
1) = o kI R < o<l woKl
1o K o & mm. m. <.
J
0%
~
m . e
N , . o Q!.l\. ___ _*wvrﬂfﬁﬁw_ﬁﬂﬁ.ﬂwﬁrﬁ
o E | | : mr.___.__ :
3 ] AR ety
o
i Pt
Hll | &
o
<l
|
— |
od |

HO|X|1~2] 2
FHAl: 13.11.2023

22120.0515 - .0520 (AEIZ|A AE)

3 UHE

WS

a8

tNHALDER




714 A x|

=]
QleiA BRIX|/ Qleis 2

=
2= E

=2 EHE
x|5 ws Amalzl & [
d, d, d; Iy I, 15 s g Fy F, Z|cH
-0,02 ~ ETES ETES ~ ~
-0,05
[mm] [mm] [N] [°C] [a]
AHQlE|A AR
5 M10 x 1 21 45,0 5 17 5 15 12 6,0 14 250 43 22120.0485
6 M12x 1,5 25 54,5 6 20 6 17 14 6,5 19 250 65 22120.0486
8 M16 x 1,5 31 69,0 8 26 8 23 19 11,5 28 250 132 22120.0488
10 M20 x 1,5 31 80,0 10 33 10 30 22 23,0 54 250 179 22120.0490
VEHY BESRY
HM ME
e x| Atol= F 1 ME s,
d;
[mm] [mm] [9]
2} L{E 1SO 8675 (DIN 439), AH|QIE|A AE
M10 x 1 16 52 22120.0515
M12x1,5 18 75 22120.0516
M16x 1,5 24 15,0 22120.0518
M20 x 1,5 30 32,0 22120.0520
TEEF
M 7 & HEE B Hste &5 HS E MES AL,
EWNHALDER Blo|x| 2 ~2| 2

FHAl: 13.11.2023


http://halder.com/kr/22120.0485
http://halder.com/kr/22120.0486
http://halder.com/kr/22120.0488
http://halder.com/kr/22120.0490
http://halder.com/kr/22120.0515
http://halder.com/kr/22120.0516
http://halder.com/kr/22120.0518
http://halder.com/kr/22120.0520

